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REMR | BRIM | BOHE | AV | T [RETEX e g | MEEOE | ISR
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Om 19.79 19.63 19.31 1917 19.58 17.55 2.03 19.80
2m 19.79 19.58 19.41 19.76 19.59 17.86 1.73 19.82
5m 19.52 19.51 19.34 19.62 19.46 17.95 1.51 19.64
10m 19.28 19.34 19.34 19.35 19.32 17.94 1.38
B-1m 18.74 18.67 19.04 18.73 18.82 17.94 0.88 19.52
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AR | BRI | BOH A0 | R | RETEK pe oy | MIEIEDE | FISAT
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Om 32.41 32.54 30.32 25.30 31.76 26.14 561 28.62
2m 32.46 32.80 32.70 32.33 32.65 31.61 1.04 32.36
5m 32.85 32.97 32.93 32.84 32.92 33.10 A 0.19 32.79
10m 33.30 33.27 33.02 33.29 33.20 33.39 A 020
B-1m 33.82 33.90 33.52 33.88 33.75 33.61 0.13 33.06
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Om 8.42 8.09 8.37 8.95 8.29 8.28 0.02 8.85
2m 8.44 7.71 7.33 8.74 7.83 7.59 0.24 8.73
5m 7.81 7.49 7.16 8.13 7.49 7.38 0.10 8.43
10m 7.14 7.39 7.01 7.88 7.18 7.34 A 016
B-1m 6.81 7.04 7.01 7.43 6.95 7.43 A 047 8.10
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IKiE 17.4 245 16.0 16.7 10.1
| BEE 3.9 4.3 4.8 4.2 3.2
Hil B35 B8 & 2.5 3.1 1.5 15 1.8
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Om 0 0 36 97 94 2
BRIA 2m 2 1 24 231 52 3
5m 0 0 13 49 9 0
Om 0 0 2 57 20 7
EnE 2m 0 0 0 62 20 4
5m 0 0 5 20 19 4
Om 0 0 0 19 4 1
1359 2m 0 0 0 11 2 2
5m 0 0 0 13 6 1
b sk 4 Om 0 0 2 12 5 4
# ’%gjzﬂ"lfi = 2m 0 0 2 28 13 5
5m 0 0 10 27 10 1
Om 0 0 20 6 18 2
ik 1Ll 2m 0 0 35 9 9 4
5m 0 0 21 10 3 2




